HREHAE— T 52022)E & =80 22 0058 DU R 30055 o s

A. 1-2 B. 2-: C.-2-i D. -1-z

BMeENR ELA=lxP+x-2<0), B={x|-x*+x <0}, MAJCE=( 1)

A. (—o-2)U[L4w) B, (-w0]U+e)  C. (-21] D. 1]

3.
ESEHF )b, Be+e =8, WZHFIRTIBEMa= ¢ )

A. 4 B.55 C.143 D176

(x+xcosx

g T mkRER R ()

B AER = +)" = 1 BB, B 5E R 00 ERN T RIS TRER ()

W+t +3x42=0 B. =+ —3x+2=0
C. 22 +y*+3y42=0 D. #f+y*=3y+2=10
6.

Bemn RPIZAFRNEL, «0RFMAFRKFE, WTFFla@ShEmRKZ ¢ D
Afmitanl SBmln, Mals B. Hmlanl SHmin, Waig

C. Bmitnal Hmia, Wrls D. HmcancfHmin, Waig



